Assignment 1
Directions: Read the following case study and fully answer each problem at the end. 
The Akami Corporation is expanding into a new facility located across the street from where they are currently located. The buildings are located directly across the street from each other, about 100 feet apart. Both buildings are one story with the original building, building A, holding about 30 employees. Building B, the new building, will at first hold only six people, but the workforce is expected to grow at the following pace:
Period 1, Months 0-6: 6 people
Period 2, Months 6-12: 20 people
Period 3, Months 12-18: 40 people
Period 4, Months 18-24: 75 people
All data is stored in building A, and the shared Internet connection will be in building A as well. Building B will be expanded as necessary, but for now the management has built out only a small part of the facility as shown in figure 1-1. Akami currently has a Windows 2000 (W2K) server and Microsoft Exchange 5.5 running in their infrastructure. They need to be able to share the Internet connection, share files on the W2K server and use the existing e-mail server. Seems like an easy configuration, right? So here is the catch: you cannot trench under the roadway to connect the two buildings because of a new city ordinance that has just passed. To make matters even more challenging, a tree farm is at the end of the road, and every single day VERY tall trucks full of trees go down the road between the two facilities, so no overhead cabling! 
The final straw is that the move in is tomorrow and you, the Network Manager, have just found out about it. You do not have the budget to immediately go out and buy a fiber optic circuit to connect the two buildings. The only thing they have at the new facility is power and phone. You have just received your budget for the year 2 months ago and will have very little additional funding for at least 10 months. You currently have less than $1,000 to buy any equipment needed to connect the two buildings. You feel quite confident that you can get $35,000 more in the budget for next year for the project. The cost of cabling the new facility is included in the lease cost of the new building.
Figure 1-1
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For this assignment your deliverables are:
1. Determine the best network media for the network in the new facility keeping in mind the growth aspect of the assignment. Support your decision by contrasting what you think is the best solution for the job, and the worst.
2. Give the method for connecting the two buildings together for Akami to be able to use existing resources for each of the periods listed above. Do not forget that your budget is restricted for the first 10-12 months. Give a rationale for the solution you chose. 
3. Give a scenario where wireless networks will benefit Akami in this assignment. Is there one technology that is better than another? Contrast your answer to another option that you discovered but chose not to use.
4. At what point do you think that the W2K server and Internet connection should be moved over to the new facility? Why?
5. What additional information do you think would have helped you determine the answers for questions 1-4 for this assignment? 
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